
Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

Tính nhân tử của đa thức khối

x + 2x − 41x − 423 2 x + 8x + 20x + 483 2

6x + 25x − 62x + 243 2 x − 52x + 963

x + 7x − 16x − 1123 2 x + x + 4x − 63 2

5x − 25x2 9x − 81x2

x + 2x + 33 x − 2x − 9x + 183 2
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Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

Tính nhân tử của đa thức khối

x + 2x − 41x − 423 2

(x − 6)(x + 7)(x + 1)

x + 8x + 20x + 483 2

(x + 6)(x + 2x + 8)2

6x + 25x − 62x + 243 2

(3x − 4)(x + 6)(2x − 1)

x − 52x + 963

(x − 6)(x + 8)(x − 2)

x + 7x − 16x − 1123 2

(x + 7)(x − 4)(x + 4)

x + x + 4x − 63 2

(x − 1)(x + 2x + 6)2

5x − 25x2

5x(x − 5)

9x − 81x2

9x(x − 9)

x + 2x + 33

(x + 1)(x − x + 3)2

x − 2x − 9x + 183 2

(x − 3)(x − 2)(x + 3)
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